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on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry twomarks. Al/questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Political Science

Paper II

TSI
gyautrent 11

Note : This paper contains Fifty (50) multiple choice questions, each carrying
Two (2) marks. Attempt A/l questions.

A : A YA TR TE (50) qguAidl TR el SA goke WAl g (2)

Time Allowed : 75 Minutes]

U SRd. @E U Wi

[Maximum Marks : 100

1. Match List-I (Treaty) with List-II
(Year) and choose the correct
code :

List-I
(Treaty)

(a) Treaty of Westphalia

(b) Treaty of Utrecht

(o) Treaty of Paris

(d) Peace Treaty of Versailles
List-II
(Year)

(1) 1713

(2) 1814

3) 1919

(4) 1648

Codes :

(@ (b (© (d
A @O @ 6 @
B @ B @2 @
€ @ O 2 B
D @ 2 @O B

-1 Aefred = ai-11 aefe
a'qﬁ‘ﬁ Y SI[SRAT Aldl. LY Hehdlen

IREEIRE

-1
(@)

(a) IEHiCIET B

(b) I HW

(0 UE R

(d) =|E= Tadr IR
-1
(ae)

(1) 1713
(2) 1814
(3) 1919
(4) 1648
Hehdiah :

(@ (b (© (d
A @O 2 B @
B @ 3 @
) @ @O 2 B
D @ 2 @O 3
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When the ‘Uniting for Peace’
resolution was adopted by the UN
General Assembly ?

(A) 1961
(B) 1951
(C) 1950
(D) 1952

Match List-I with List-II and select
the correct answer from the codes
given below :

List-I
(2) India in Transition
(b) My Picture of Socialism
(00 My Experiments with Truth
(d) Annihilation of Caste
List-II
(1) Jai Prakash Narayan
(2) Babasaheb Ambedkar
(3) Manvendra Nath Roy
(4) M.K. Gandhi
Codes :
(@ b (o (@
A @ @2 B @
B 3 O @ @
< Q3 @ 1 @
M 2 O @ 3

JAN - 15218/I1—A
T TS SHHA IS Toht
0" FfaeR= FIAR el el ?
(A) 1961

(B) 1951
(C) 1950

(D) 1952

Welldl Il oM heed Iei-1 ST
AT~ 11 TefieT SeehT=AT Siee Segall 3T
feeTedl HehdlhMmyd ard 991 farer :

-1
(a) S0 39 ZrEfeE
(b) TE foeR o1 Alels™
(0 W TFEHiHe fao 2
(d) STl &% we
aTEr-11

(1) STIYRR AR

(2) AEHRE STEEHT
(3) HHeigY U
(4) THS. e
Hehdiah :

@ b (© (d
A @ @ @ @
B B3 1 @ @
< 3 @ @O @
D 2 1 @ O3




The most essential feature of Federal

Government is :
(A) Supremacy of Judiciary
(B) Supremacy of Parliament

(C) Division of powers between the

Federal and State Government
(D) Local Government
Political Science is a discipline :

(A) Which does not subscribe to any

values

(B) Which provides value-free

analysis
(C) Meant to study values
(D) That cannot ignore values

Which of the following countries has
adopted the method of amending the

constitution by a popular vote ?
(A) UK

(B) U.SA.

(C) Switzerland

(D) India

JAN - 15218/I1—A

fay

Tl ToRT YR 69

AETE I HIv ?

[
[

d

(A) T a9
(B) THe WIS

(C) FommEa 3for TSI9mEA A=A
Afeepr fgvmToft

(D) Tefaeh  SITEEEeN

TR & T Rl faemman e

(A) TG A= EhR i el

(B) Hoa-Tugy fogerom 3uetsy &
<d

(C) Joam= 1eE STeRdesh HAd
(D) oA Taiel & Iehd ATl

SHaY Ha foaa S ToUEeAd s

FHIOATA UCHAET STaAd @eerdeh]

HICAT A heAl ST ?
(A) Foie
(B) MR
(C) fammte

(D) ¥d

[P.T.O.



By which of the following methods
the American federation was

formed ?

(A) Legislature

(B) The Act of Senate

(C) A voluntary agreement

(D) By revolution

Which one of the following
political theorists made a clear
distinction between two levels of
superstructure (a) Political society,

(b) Civil society ?

(A) F. Engels

(B) Mao

(C) Gramsci

(D) Lenin

JAN - 15218/I1—A

AR o=l fAfddl wrefiadent

DIV HITH HAel 3”2

(A) FECHSHER

(B) fae=n waeaEr

(C) W1 HIL hed

(D) hidr=an HETA

(31) TSR TN, (&) RN 99 A

T WA oRRH AT 9T

(aV N A be: 3 [aV o ha
wllctietqenl enlUlcdl slenld [AGl<denl

el 3 ?

(A) Th. TSeH

(B) 137

(C) TmgEt

(D) <=




10.

Which one of the following

philosophers is associated with

Egalitarian Liberal Theory of

Justice ?

(A) Immanuel Kant

(B) John Rawls

(C) Robert Nozick

(D) T.H. Green

The Joint River Commission

constituted in 1972 was expected to

solve the water dispute between :

(A) India and China

(B) India and Bhutan

(C) India and Bangladesh

(D) India and Nepal

10.
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T FHATESSA SERATAR! G

WTeATeTteh! IO drod Tefad SR ?

(A) THIA Hie

(B) 9 U™

(C) Uad Hiferh

(D) A.T=. U

1972 Hefel HgAI 41 TR WeTerieh!
ST SIMHENT qToiEest Gredaut

aruferd Bd ?

(A) ¥Ra awfor <=
(B) WRd 3701 9qa™
(C) WRd 37U Seee

(D) YRd 37T Adres

[P.T.O.



11.

12.

Which of the following a group
of contemporary political thinkers
staunch

are supporters of

communitarianism ?
(A) Rousseau, Hegel and Green

(B) Berlin, Hayek and Milton

Friedman

(C) Adam Smith, John Locke and

Jeremy Bentham

(D) Michael Okeshott and Hannah

Arendt

Who is the author of the following
statement “traditional political theory
is the production of the turmoil that

characterise past ages” ?
(A) David Easton

(B) Germino

(C) Cobban

(D) Lipset

11.

12.
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WTATATRT HIOTAT FHRTATT  TSTeh [
foremEar=n T2 SRR el gHew

T AR ?

(A) &9, @ o WA

(B) =feq, s =1for faee weeswA

(C) Ffeq Tmy, W9 ol ST SRHt

RO

(D) A& Sifhsiie ST B8 =<

“qRuIfier TSt fagid SaemdTaei=T

T 19 S YRR 90 i Bl
S\

faur= o@s wi ?
(A) S=hie g&=A

(B) SIfHAT

(C) e

(D) feTde




13.

14.

Match List-I with List-II and select
the correct answer from the codes

given below :
List-I
(a) Bureaucracy
(b) Dependency Theory
(o Elitist Theory
(d) World System Theory
List-II
(1) Vilfredo Pareto
(2) Immanuel Wallerstein
(3) Samir Amin
(4) Max Weber
Codes :

(@ (b (o (d
A @ 3 1) @)
B 1 @ @ O)
© & @®O @2 @
M 2 @ & @

Which one of the following is not the
characteristic of behaviourism ?

(A) Regularities

(B) Verification

(C) Value-neutrality
(D) Action

13.

14.
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AET-1 9 FAE-11 =1 9 e o
ST Eeftal Fehagiqd ard T3
IEEEINE

TTEt-1
(a) R
(b) TUEEeATE fag
(0 fqsramE! g
(d) Sfaes e fagr
FTE-11

(1) foeme R
(2) THYSTE AfeEA
(3) 9 A
(4) TR T
Hehage

(@ b (© (d
A @D & 1 @
B) 1 @ @ 3
< 3 @O 2 @
D 2 @ B @
ETeeTdeh! I AT aaarRr
T ?
(A) SREM
(B) TSdresuil
(C) Tea TR

(D) St
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15. Match List-I with List-IT and select

the correct answer by using the codes

given below the list :

(a)

(D)

(0

(d)

(D

2)
(3)
(4)

List-I

Traditional approach to the

study of Comparative Politics

Systems approach to the study

of Comparative Politics

Structural-functional approach
to the study of Comparative
Politics

Marxist approach to the study

of Comparative Politics
List-II

Interest Articulation, Interest

Aggregation
Eurocentric, Normative
Input-Output-Feedback

Economic aspects

Codes :

A) )
B) 3
C)
D) (2)

(@ (b
(2)
(1)
(2)

3)

(0
(1)
(2)
3)
(1)

(d)
(4)
4)
(4)
4)
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15. -1 ofor Ici-11 = arg e

Soeell ST fSetea HehaeeiqT A vt
ferer -

(a)

(b)

(0

(d)

(D

2)
3)
(4)

ret-1

qcTdTcHer ST TIUT=AT ST

TRURe gheedh

qAATcHeh (ST IUT=AT AT

el gl

datlcHen  sieh U= SRR
TIACHS - HEIcHE  Gfeehe
dodlcHen  Isieh U= SRR
et gftea

ar-11
YA
FAThS!, oA
SHlQIH-H[H-HHIgQIH

affefsr oeeh

-
.
.

A 3
B) 3
©)
D) (2)

(D)
(2)
(1)
(2)
3)

(0
(1)
(2)
3)
(1)

(a)
(4)
(4)
(4)
(4)

10



16. Match List-I with List-IT and select

the correct answer from the codes

given below :

(a)
(D)
(©
(d

(D

2)
3)

4)

List-I
Gabriel Almond
Karl Deutsch
Daniel Lerner
Lucian Pye

List-1I

Social mobilization and Political

Development
Aspects of Political Development

The Politics of Developing

Areas

Passing of Traditional Societies

Codes :

A) (2
(B) @
C)

D) )

(a (b (o

@) @ @

2 @O 3

4) Q) (@2

1 @ @
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16. a©i-1 omfor Ict-11 =41 Ay Siredn

Soodll 30T feeiea Hehda e At T2
IEEEIEE

(a)
(D)
(0
(d

(1)

(2)
3)
(4)

TrEt-1
TeheTa sTere
F =g
SIRE IR
GIERERIC]
FTE-11
GRTel Hisege e wiferlend
THATH

T gifadied 3% Sectdi Tfamst

e ik SfevHa arameet

K3
.
.

A) (2)
(B) @)
© @

(D) 3)

(a b (o

3 @ @

2 @O O

4) 3 (2

1) @ @

11
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17.

Give the correct answer by using the

codes given below :

Assertion (A) :

Legitimacy is the right and
acceptance of an authority usually

a governing law or a regime.

Reason (R) :

Authority denotes specific position

in an established government.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

JAN - 15218/I1—A

17. Tefd Gehayaren arR HEd g W

a1 e
faam A)

AT TeuTst Afe= TR S
THR  (GAHTEROTIO IMEATET SISl

fopan Totae A= STferEs).

%ot (R)

At Ul wefud IMEA T
faferse T=.

Hehagen :

(A) T (A) @nfor (R) sRIsX 21

AT (R) § (A) = I TR0l
3y

(B) =1 (A) amfor (R) ssk 3T
Uit (R) B (A) & I7g TR0
B

(C) (A) § I=R 3T® 907 (R) I 38

(D) (R) § =R 378 907 (A) I 378
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18. Give the correct answer by using the

codes given below :

Assertion (A) :

Narendra Modi has more power.

Reason (R) :

Narendra Modi is the Prime Minister

of India.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

JAN - 15218/I1—A

18. Weld foiedl Fehag=idl TR H&d qid

SRR |

fagm A)

g AR fem T TR,

®IOT (R) :

Hehadet :

(A) 3= (A) 3for (R) s&R 318

anfor (R) ® (A) = Img TR

Sl

(B) 1=l (A) aTfor (R) seR TR
I (R) ® (A) 3 4 Sqeian

T
(C) (A) & o=k 3T€ 991 (R) ¥ 3%

(D) (R) T IR T8 907 (A) I 3T

13
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19. According to David Easton Political

20.

System has certain key aspects.
Identify the correct aspects :

(1) Political system is just one
among other forms of social

system.

(i) Political system allocates by
means of policies.

(1) Its
authoritative.

allocations are not

(iv) Its allocations are not binding
on society.

Codes :

(A) (i) and (i) are correct

(B) (i) and (z71) are correct

(C) (1), (1)) and (i7)) are incorrect
(D) Only (iv) is incorrect

Which of the following sets of
values emphasised by the classical
model of Public Administration is
challenged by the New Public
Management ?

(A) Rationality, hierarchy,
centralization

(B) Professionalism, efficiency,
economy

(C) Decentralization, governance,
accountability

(D) Communication, leadership,
authority

19.

20.

JAN - 15218/I1—A

Saig T I Hd USThid SHaed=l
FTET TAYTT OSSR 31T, T SIS

EARCS] ‘&\l‘&\l R At B ANTAN E AN | Rl B B I I

e

() TSI T & STk @IS
STAL e s Teh oHaE

3TR.

(i7) SR AT TSThia el
foaeor +d.

(z77) USRI TIEA shad fadqio
AR T

(7v) TSThiT AL shelel faaior THTsier
FYTRRE T

'FI@?IW :

(A) (7) 3T (77) SREX 378

(B) (#) 37T (777) SRER 378

(C) (1), () ST (7)) I 3T

(D) Hds (iv) Ioh AR

AHIIMTEAT=AT AT TR UTH X

[N N

Q] <h[U[cH] J-i\c'ﬂllo"ll Q’i\l%H?IIH"II‘G"«II

o~ N

o Faedd fagmam ofeeH foa
e ?
(A) difehehdl, IS, il

(B) HATOEIoehdl, SHIHETHAl, HIEHTT
(C) Tahgientor, TETaeR, STEIad

(D) Tg=H, g, AfRR

14



21. What happens when hierarchy in

22.

an organization is overextended ?

(1) Organizational efficiency

increases.
(2) Lower levels are neglected.

(3) Communication becomes more

effective.

(4) Chief executive looses touch
with the bottom level.

Codes :

(A) (1) and (2) are true
(B) (2) and (3) are true
(C) (1) and (3) are true
(D) (2) and (4) are true

The scrutiny of the expenditure of
the government by the Public
Accounts Committee is effective.
Which of the following is its correct

reason for the same ?

(A) It identifies the unlawful

expenditure.

(B)

Its scrutiny is based on the
report of the CAG.

(C) Its

representation to all the

composition provides

political parties.

(D) It is an ad-hoc committee.

21.

22.
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geeadid TeHaHEAl Srfafed 39
AT FE T ?

(1) HoeAHs HIEeTHdl amed.

(2) HTS TR gael =

(3) T Al TRUMHERE Tl

(4) &I FHEHRN fhraTan STt
e el el

Hehdich :

(A) (1) =for (2) s 1

(B) (2) @fur (3) s{isR 2

(C) (1) 31fuT (3) <= 118

(D) (2) oTfor (4) SR 37§

IMEAT hAed ©EET dish A@

AR Sholell SE TROMMHRRE 3794,

WAk g I7g &R0 Hivd 2

(A) FfFdt ISR Td eyt
A <.

(B) |fgdi=it == A8 BITTar=a
STEATATER STEMRA  3THd.

(C) WiHdT=l o 313t STEd i e
T TSR U & Hfaffere
fiead.

(D) Wit aeqee el 3TEd.

[P.T.O.



23.

24.

25.

Which one of is the characteristic of

post-behaviourism ?
(A) Quantification
(B) Relevance

(C) Value free

(D) Pure science

Which of the following is the
correct description of India’s federal

system ?

(A) A classical federal system
(B) A cooperative federal system
(C) A three-tier federal system
(D) A liberal federal system

Which one of the following is not

separatist movement ?
(A) JKLF

(B) ULFA

(C) PLA

(D) Naxalism

23.

24.

25.

JAN - 15218/I1—A

TICTEThT IV SaTRRREET SfeTse]
e ?

(A) 9fRHAmH

(B) S

(C) Heaf-uard

(D) faggs wme

TRATSAT Hood SHTEIETe Eeiierdeh!
HIUT T SRS S 2

(A) Te MY TesT Tgdl

(B) Ush HehEicH TSI 95l

(C) T WOF 9 ggdl

(D) SERYAE! TERST UGl

AT I HERAERE F@d6s
e ?

(A) I.%.TA.TH
(B) 3c®w1
(C) W.Ta.T

(D) F&fetdre

16
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26. Which of the following statements 2. W FY fauH sET ST ?
is correct ?

(A) Collegium system of the (A) HH= EIRIRERIERIN BEL
Supreme Court has been TSI HTASHIH  SFaEa=hn
introduced by the Act of .
Parliament rdld enl4dla JHlcl.

(B) Collegium system has been (B) IMHh [T SUATGR ShiciSTay SHeLo=t
introduced by Government N

. rdld enldla JHlcl.
Resolution.

(C) Collegium system has been (C) FiTIH T 3T TiTeHI-
already incorporated in the 9 TS wEE el S,
Constitution.

(D) Collegium system has been (D) wfaenfies dAdifyEmE wai==
created by the judgement of SR T FORTER e
the Supreme Court without
constitutional mandate. o] i hIvar Sell oTe.

27. What is reason of recent conflict | 27. Ui anfor = Eufeer I=ameia

between executive and judiciary ? sifetere=n O SR Ry R 2

A he i f i f

(A) ‘On the .1ssue 0 a.ppomtment 0 (A) T=5 =R e e
judges in the High Courts

. . qEIT®

(B) On the issue of appointment of ‘
judges in lower judiciary (B) &fTs3 —AmATerar=al AFENTI=A1

(C) On the issue of hike in the RREAE CIER
salary of judges of Supreme (C) Haled =ATITAAT=AT —TTesT=
Court CRECICE I kR IEtey

(D) On the issue of protection of .

. P (D) Fal=a oo I=a —AATadT=Al

judges of Supreme Court and o

High Courts TENETRIAT TETOT SOAT= Herae
17 [P.T.O.



28.

29.

Which one of the following
statements is correct ?

(A) Judicial Activism means an
encroachment on the powers of
executive by Judiciary

Judicial

judicial excess

(B) Activism means

(C) dJudicial Activism is an inherent
power of the judiciary while

interpreting law

(D) dJudicial Activism is curtailment

of the power of states

Which one of the
statements is correct ?

following

(A) National Judicial appointment
commission is working as per
the Act of Parliament

(B) National Judicial appointment
commission has been declared
unconstitutional by Apex

Judiciary recently

(C) National Judicial appointment
commission was appointed by
President of India as per

constitutional provisions.

(D) Even after striking down the
law of National dJudicial
appointment commission by
the said

commission is still functioning

Supreme Court,

28.

29.

JAN - 15218/I1—A

qelcTieh! IV faem sRieR 3Tg 2
(A) ek Ffchadl Ul —THHAEIGR

o o ke 3 [
Sl Xl ATd SHldsh HYI

(B) =arfas wfwaar w=us =g

o o

(C) HTIYTA PIECIIGE! EXGIEN

A SYd A HHT

(D) =arfaes gfegar worst TS
ATIHHE T

JEicush! HIU fau™ sRieR e ?

(A) TSI =fes et ST Sae=n
sfafEAgaR & w4 o7
(B) stfaene wseta =arfaes  fAgerdt

AT AT
sfauies ®UE =ifta sl

fPTEIr =ATIsgaTa A

(C) wfaenfier FHSHITER TS =
ARl SR TogaedigR frgerl
FHOIT el B

(D) T =t e ST Sated

AR T H&A g1 T dl
FHEA 3
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30. Which of the following is correct

31.

about Elections ?

(A) Elections in India provide the
opportunity for the widest
degree of popular porticipation
and for genuine competition

between political groups

(B)

Elections encourage political

violence

()

Elections empower women

voters
(D) Elections maintain status quo

Which one of the following national
political party was instrumental in
introducing economic development
programme i.e., Zamindari abolition,
land reforms, cooperative farming
and compulsory primary education

ete.

(A) Parties in UPA Alliance at the

centre

(B) Congress Party (INC)

(C) Bhartiya Janata Party along

with NDA Alliance

(D) CPM & CPI (Leftist Parties)
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30. THaeum=n Heuld Eeiadehl v

31.

faum seR 3R ?

(A) YRGS Ut aieh=n =TI
TEUNTE 3o TSiehia TeTHeid
= WEen gt Sdd

~*

e Tsha fedan gicare

<

(B)

(C) #fgar wagi= fAasv =®1qes

TR Bl
(D) THaeurRT Fenfeerdt feshadrd

Wterdent aTfefes faerm el SHIAER
STATe, STHIM GHRON, TEehi Sidt 3o
TR Wty feror s, sty

EEARRCapER ST SHI0TT AT 1

qeTe ANGH 3 ?

(A) HsmHd 3R gameia a4
(B) HUW &1 (IR T i)
(C) YR ST 9l TA.S1.T. Jrdred

(D) .di.um. efor ... (arHuet

qe7)
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32.

33.

34.

Who used the term Single Party
Dominant System prior to 1967
politics ?

(A) Norman D. Palmer

(B) Subhash C. Kashyap

(C) W.H. Morris & Rajani Kothari
(D) M.V. Pylee

Which one of the techniques is not

used by pressure group ?

(A) Framing of draft bills with skill

and expert knowledge

(B) to influence

government policy

Lobbying

()

Securing nomination and

elections of sympathetic

legislators
D)
Which one

authority for controlling and

Election campaign for candidate

is the regulatory

regulating print media ?

(A) Ministry of Information &

Broadcasting
(B)
(®)
(D)

Press Council of India
Election Commission of India

Comptroller & Auditor General
of India (CAG)

32.

33.

34.
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1967 QAT=AT TSTHRUMTAT HEHid ThIH
Ydes Tgdl 3TN O IV ATl ?

(A) FHT S R

(B) gy €. %Iy

(C) S=Y.Ta. AN 7o S ISRt
(D) TAS.

QI T2IGIX h(UTd T‘H SYLNTIA Wﬁ S
e ?

(A) HITEd ST T FEAER YT
IECREREIENI

(B) YEahg idt YHTfad  sh{uamdrel
IEL

(C) TR STHIea SHEAN=AT HEHfd
AMIRA offor fatem gRfea w0

(D) SHEaREE! e Hifed

AT AT IOl v Hams
TIfeeRtor 3Tg 2

(A) #ifedt ofor gERYT Herd
(B) 99 whifga 3% sfea
(C) waren frat=q smam

(D) yaren s enfor AR
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35.

36.

Which one of the following is not a

peasants movement ?

(A) Champaran Movement (Bihar
1917)

(B) Khera Satyagraha (1918)
(C) Chipko Andolan
(D) Bardoli Satyagraha
Which one of the

statements is correct ?

following

(A) Of the four pillars of the

Constitution, the election
commission is one, the three
being the Supreme Court, the
Public Service Commission and
the Comptroller and Auditor

General of India

(B) Of the four pillars of the

Constitution, the election
commission is one, the other
three are Media, Political

Parties and the Supreme Court

(C) Of the four pillars of the

Constitution, the election
commission is one, the other
three are legislature, executive

and judiciary

(D) None of the above

35.

36.
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AN A ~ a LN fa
L[ATeTYehT <h[UTdl Teh I[dhil <o
& ?

(A) TR Ted (faer 1917)

(B) BB FaWE (1918)

(C) ol sTcIeH

(D) SRS g

Geteien! v I8N SReR 3T ?

(A) FfIEHr= R STt T fated

3TN STYA SR T Halted =,
TAREET SN S wRaren e
9 e

(B) Sfaumren 9rR WuTient T fHatem
ST ST TR A HSHT, TSR

T ST Faiew AT B

(C) Tfaemren 9r W] T Hatem
M g s a1 fafumess,
HTTfeTeRT ST et B

(D) acUeh! whTE TRl
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37.

38.

Consider the following statements
about decentralised planning and

select the correct code :

() Decentralised planning is

bottom-up planning

(i7) It is undertaken at the grass

roots level
(111) It ensures peoples’ participation

(zv) The 73rd and 74th constitu-

tional amendments made

decentralised planning

mandatory in India.
Codes :
(A) (1), (1D) correct, (i), (iv) incorrect

(B) (1), (1) are incorrect, (i11), (iv) are

correct
(C) (1), (ip), (1) and (1v) are correct

(D) (1), (i1, (i) are correct, (iv) is

incorrect

Who was the first to coin the word

‘Bureaucracy’ ?

(A) Max Weber

(B) Vincent de Gournay
(C) Gaetano Mosca

(D) Thomas Carlyle

37.

38.
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faendta faiSaEeet Treia faum
foramaa = enfor A Hehdies fael

(1) ToRsia ST Terga sxadd sal
S

() fahsia FESH deude Iy sl
.

(zi7) fashgia e dagar=t
Bt fHead.

(fv) 731 AT 74391 TAGEEAA
forehgia FISH Seehes ol 3.

et

(A) (9, (i) SR 3Td, (i), (iv) Ih
aTed

(B) (1), (1) I 3R, (id), (7v) T
3TRd

(C) (1, (), (imD), (1v) TS AR
D) (1, (i), (7) IR 30Rd, (iv) Th
EIE

THWNME! (Bureaucracy) 3l BRI
ETeTeTdehl hivrea fo=madm 9eH

AT ?
(A) He T
(B) fa=ie €t T
(C) fredt wiew
(D) &fF" wrelia




39.

Which one of the following principles
of organisation requires that every
member of an organisation should
report to one, and only one leader

‘superior’ ?

39.
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TTCATTdeh! IO TeEA=AT T aR

TEEAdd gdsh GUTESH hdos Tahld

STTOT Whek] WehT=l SICS3TeT STT9eT ST

TEUld TEER A Tfes 3™ HHA
e ?

(A) Span of Control (A) T wen
(B) Unity of Command (B) 3= T
(C) Integration (C) THFATHI
(D) Decentralisation )REEFET|
40. The importance of a comparative | 40. @elicids! o fTaREaN TG
approach to Public Administration B s gftes T HeweTeR )
was first emphasised by whom of the
fqem ?
following ?
(A) ge! faeud
(A) Woodrow Wilson
B 2. =L
(B) L.D. White (B) T
(C) Robert Merton (C) Tad A
(D) Frederick Taylor (D) Hee R
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41. List-I below gives some Models/ | 41. Wl feoiet a€i-1 Te farom wfqam/

Theories of Conflict Resolution and Taga <ziaa ofor AEt-11 Hed e <ieeh
List-II gives the author of the Model/ oot aTRd. ARI-1 37for aer-11 3 A
Theory. Match List-I and List-II and HGhR REER {g]qﬁ rQQ'K'*'Il {'iqﬁdi*'l‘é;_l\ﬂ ‘&h’l’&[
select the correct answer from the Tt ferer -
codes given below :
&l qrar-1
List-I .
(Fos Harum=
(Models/Theories in .
gfemm/fagia)
Conflict Resolution) . .
() iR Uy
(1) Conflict Prevention
(7)) TR S FfqqE
(7)) Four Worlds Model
(77i) qATCHS BT
(i11) Relative Deprivation .
) ) ) (7v) ToY giedH
(7v) Conflict Transformation
List-II -1
(Authors) ( )
(a) <€ AT T

(a) Ted Robert Gurr

(b) John Galtung (b) S Terg

(& John Burton (0 S =
(d) Dennis Sandole (d) Sf8 Wi
Codes : LETICE

(» @ G Gv (» @@ D (v
A b (d (@ (o A b (d (@ (o
B) (0 (@ (a ) B) (0 (@ (a
©) (@ (@ W (o ©C) (@ (@& Wb (o
M) (0 (@ (@ b M) (o0 (& (@ b
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42. Which of the following is a correct

statement with regard to Indus

Water Treaty of 1960 between India

and Pakistan ?

(A) Under the treaty India is

allowed to share 20% of water

of the six rivers flowing from

India to Pakistan.

(B) India is restrained from
building any dams on the six

rivers.

(C) The treaty was suspended

whenever there were wars or

serious tensions on the borders.

(D) The treaty can be revoked only

through mutual consultation.
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42, YRI-UIh&M SN 1960 HEA HTeed

TSY IO IS Ereitel faamiient

g faum g e ?

(A) I FHIRTE(T HRAA TR AL

SRV Hel TRy HRaren 20%

ot BT 3.

fal

(B) ®@l edlol 9Tl Shivdel

g

LTI Sl 3R.

(C) IS Tohan Hieerial qumamsei 31 TR

T HLOA 3Tl B

(D) ®ea fguell ==igR 81 IR & hdl

Al
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43.

44.

Arrange the following events related
to global environment in correct
chronological order and choose the
correct answer from the codes given

below :

() Doha Conference
(i7) Paris Agreement
(i7i) Kyoto Protocol
(zv) Earth Summit
Codes :

A) (), (1v), (111, (1)
(B) Gw), (D), (1), (1)
(C) (), (4w, (9, (1)
D) ), (1), (1), (71D

The Global Competitiveness Report

is prepared by :

(A) World Economic Forum
(B) World Bank

(C) IMF

(D) Asian Development Bank

43.

44.
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o ¢ . " .
NINIGES l‘|¢II<3|{U|I{*'I‘S’I‘f'j'} Wl el

JITI HHATG AT Telt foadedn

Hhammgd 4rg v faer
(1) TR HHeA

(i) TE W

(i7i) & IR

(1v) 9ot firer qfteg
Hehdiah :

(A) (1), (4w), (1), (11)

(B) Gw), (1), (1), (1)

(C) (i), (1w), (1), (1)

D) (D), (2, (1v), (i11)

R IR H0IM STl 3T
(A) STifae affefer W=
(B) SNIfaeh ok

(C) TS rorfedt

(D) sTfyemh fow
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45. Which of the following statement/s

is/are correct ?

(1) Special UN Fund for Economic
Development (SUNFED) was
established in 1957 to give
financial assistance to the third

world countries.

(i7) SUNFED could not achieve its
goals mainly due to cold war

politics.

(i11) In 1965, SUNFED was replaced
by UNDP, which became a
subsidiary organ of UN General
Assembly.

(i7v) North-South politics became

a power struggle based on
strategic issues and not on

developmental issues.

Select the correct answer from the

following codes :

Codes :

(A) (0, (i), (11D are correct
(B) (i1, (ifD), (iv) are correct
(C) Only (1) is correct

(D) Only (iv) is correct
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45. @it wiv faum/faum sRew

e ?

(1) 1957 9 TEIA I.UA. He TR
EhHITHH Saude (SUNFED) =
o1 Tag=an STter ST SAfefeR

~ a a
HQd QUIIal el

(7)) SUNFED ¥fiaggehteil TsThron-
oo = 3fEee WA & Wehedl
&l

(i) 1965 A& SUNFED =a1 STl

UNDP & H0ad e, S I

TEE SHEHE T2H 3T o,

(7v) S-S0 qSTh0T ® faenmarces
eSS STadETHs HEATaN
ed T GO Sl

WAl FeharehTHe[ arvg gt faer :
Hehdich :

(A) (1), (7), (7if) IS 3R

(B) (i), (i), (iv) X 3R

(C) ek (jzi) S&X 3T1ed

(D) e (7v) SIS 3T
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46. List-I below gives names of some

Indians, who served on some UN
bodies given in List-II. Match the
two lists and select the correct
answer from the codes given
below :

List-1I

(Indian)
(1) Hansa Mehta
(i) Vijayalaxmi Pandit
(111 Nagendra Singh
(zv) Vinod Rai

List-1I
(UN Bodies and the Post)

(@) Chairman of UN Panel of
External Auditors

(b) Member of Drafting Panel of
UN Declaration of Human
Rights

(¢) President of 8th Session of UN
General Assembly

(d) President of International
Court of Justice

Codes :

(o (@ ) (v
A) (@ (@ b (o
B) (b (@ (@ (0
© (o (@ Wb (a
D b (0 (@ (a
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46. et foeiedn F@l-1 78 g o=

fafar wifererTomer el shetea WA=
S ST A1 7 =it 0 feeft st
! A A S[eTseed e el
feciea SehdiRiqd arg qag feer .

Tret-1
()

() =@ HeEd

(1) fasrmasH dfeq

(izi) ATTg T&

(iv) ferie T
Fret-11

(Hger Treerdier Ug)

(a) TIF TSI d@d ACTITET=

giada A28

(b) H'gem TS AT ERR ST

TR Wit e

(0 TgFd T AHEI=A 841 AN
ey

(d) STRASET =TI 31
Hehdlah :
() () (v)
A (@ (@ Wb
B) b (@ (@ (©
© o (@ Wb (a
O b (0 (@ (a2
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47. Choose the incorrect statement

regarding propositions of Dependency

Theory :

(A)

(B)

(C)

(D)

Developing/underdeveloped
countries do not exist in
isolation. They can only be
understood in the context of

world economic and political

system.

The relationship between core
and periphery countries is
for

disadvantageous core

countries.

As long as capitalism remains
the dominant world economic
system there is no reason for the
situation of developed and
underdeveloped countries to

change.

Poor states are impoverished
and rich ones enriched by the
way poor states are integrated

into the world system.
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47. Eoiteiies! ereisH = fagr=an Sevid

ool faum slieen :

(A)

(B)

(C)

(D)

Toerameiiel/Afaenfad T3 3TerTqol

\‘HF{-CICOIICI "Hdld. (‘"vli"ll HIY Al
Srfas errfefer anfor uS=R 1=
eI HIHIA TS BAE AR

&g anfor gfteamada SsngeEid

= N

dl&ATd

TEY § heldid <ITHETC

SAHdTd.

SYHd AISTARMEl &1 Sfae
HATTEIHE JqEl WA i
forrfaa amftn sreifaenfaa T=amg@
Rfeerft HovaTEl wERI AR

TR e SATceh SHAEIHE SATYhR
G ST YA T e
sifer e 9 #iva T2 At
giHa .
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48. Match List-I with List-IT and select

the correct answer from the codes

given below :

(a)
(b)
()

(d)

(1)
2)
3)

(4)

List-I
Media and Friends
Centre and Periphery
Input and Output
Family and School
List-1I
Systems approach
Political socialization
Political communication

Dependency theory

Codes :

(@ b (o (d

@A 3 @ O @

B) 3 @ QO @

© 2 1 @ 3

D 1) 2 B @
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48. FEI-1 9 ARI-11 =1 Arg Siedn Seod

amifor oo HehaygEiqT ard 9b

(a) wegH YT THeORER
(b) g eTfor ufee

(0 SEH o7l YeH

(d) F2a A0 el

(1) =Haeen gfesH

(2) TSThid HHISTeR LT

(3) USThIE TH=A

(4) TEGeATET fagr

-
-
.

(a)
A) 3)
B) 3
©) @)

D) (D)

(D)

(2)

(4)

(1)

(2)

(0
(1)
(1)
(4)

3)

4)

(2)

3)

(4)
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49. Match List-I with List-II and select | 49. 3IRI-I 301 AA-11 =1 A S Jaza
the correct answer by using the codes arfor foeten {ichclﬁj_\d'\ll'-l I 9T
given below : Tarer -

List-I Iqrat-1
(a) Capitalism, Socialism and (a) FTueforem, Arifaey i< Sofed
Democracy e e " . .
(b) DTIETAFTH 38 ASISHATHL
(b) Capitalism and under- T offen e
development in Latin America o .
(¢ Capitali in th ¢ (0 wfedfasa 39 T WS %
c apitalism in e age o AT
globalization et e
(d) The Modern World System (@ = ¢
List-1T T
(1) Andre Gunder Frank (1) = I =
(2) Samir Amin (2) | S
(3) Joseph Schumpeter (3) < JRIER
(4) Immanuel Wallerstein (4) THIHAA dle T
Codes : F@ﬂ'ﬂﬁ :
(@ b ©© (@ (a b (© (@
A @ 3 @1 @ A) @ 3 1O @
B) 3 @ @O @ B) 8 2 O @
< 3 1 2 @ < 3 1 2 @
D 2 @ @O 3 D @2 @ @O 3

50. Which electoral system is used in | 50. FRERHSE= He&=a Mo s
USA and Britain to elect members o Y2 foreaqed vt fHereue dg
of Legislature ? AT S ?

(A) Simple plurality vote (A) H¥ =gHd
(B) Alternative vote (B) 9afdt w4
(C) Proportional Representation (C) YHMRIR wfaffae
(D) Single transferable vote (D) Tshdd THHAUT HHST HagH
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ROUGH WORK
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